
1 
 

Table Of Contents 

NOTE: When using these hyperlinks in the table of contents to go to a certain page of this 

document, ensure to go to File -> Options -> Click on the Advanced tab -> Uncheck the “Use 

CTRL + Click to follow hyperlink” box. 

Items Page # 
  
Adhesives, Tapes, Putty Tapes and Sealants …………………………………………………………………………… 2 
Paints………………………………………………………………………………………………………………………………………. 3 
Anti-Freeze……………………………………………………………………………………………………………………………… 4 
Electrical – Fuses, Wires, Connectors and Wire Ties………..................................………..........…….. 5-6 
Nails & Lumber…………………………………………………………………..…………………………………………………… 7 
Staples…………………………………………………………………………………………………………………………………….. 8 
Grout & Mortar………………………………………………………………………………………………………………………. 9 
Sprays & Cleaners……………………………………………………………………………………………………………………. 10 
Screws & Bolts………………………………………………………………………………………………………………………… 11-21 
Toilet Bolt Kits…………………………………………………………………………………………………………………………. 22 
Velcro, Teflon Strip, Brackets, Rubber Pads, Plumbing Accessories and Insulation..................... 23 
  



2 
 

Adhesives, Tapes, Putty Tapes & Sealants 

Description Part # 

Adhesive Bostik 290 ML Tube 12/ 51987 

ADHSV DOW 795 WHT 04386 

Adhesive Spray (Sta Put) 107953 

Adhesive Spray (Tub Surround) 18798 

Sikaflex 221 Alum. 20/CS 20135 

Sikaflex 521UV White 30/CS 52769 

Sealan 999Clear 10.3 oz. 12/CS 34777 

Silicone Black 12/Box 24114 

Silicone White 12/Box 24113 

Silicone Clear Repack 24116 

ADHSV Sikaflex 221 Gray 24/CS 00703 

ADHSV Sikaflex 505UV Tube Wht 24/CS 018978 

Sealant Rubber Roof (11 oz) 25/ 25112 

Skylight Roof Sealer 12/CS 23310 

Silicone Lt. Char Gray 12/CS 16713 

Caulking Butyl Blk Trempro 651 23991 

Adhesive Urethane Chemrex 948 33565 

Wilsonart Sealer/Adhesive 8 oz. 33564 

Sealer Cameo White Silicone 34035 

Sealer Corian Bone Silicone 95872 

Plas-T-Cote Wht 1 Gl 00383 

Plas-T-Cote Alum 1 Gl 00382 

Adhesive Instant 1 oz. CA40 (Super Glue) 30841P 

Foam Tape .25X1 EPDM W/ADHSV 105858 

Foam Tape 1/2X32 93555 

J-B Weld Industro Cold Weld 019027 

Tape Duratex HM2000 3”X100’ 48176 

Tape Mirror 3M 3/4” Double Sided 61494 

Tape Electrical Red  30704 

Tape Electrical Black 10645 

Tape 3M Acrylic Red 013507 

Seal Window 1/2" X .312 Ribbed 53092H 

Tape Butyl 1/8 x 3/4 24-30’/CS White  36978 

Tape Butyl w/ Cheese Cloth 1/2” 26483 

Tape Butyl 1/8 x 3/4 24-34’/CS Grey 16739 

Tape Caulk 1/8 x 3/4 1901F 24RL 18394 

Tape Butyl 1/16 x 1/2 32-50’RL Grey 16563 

Tape Caulk 1/4 x 3/4 1901F 24RL 16409 

Tape Butyl 1/8 x 1-1/2 x 30’ 12/CS Grey 22447 

Tape Butyl 1/16 x 1 20-50’/CS Black 27974 

Tape HD Alum 30816 

 

RETURN TO TABLE OF CONTENTS 

 P  



3 
 

Paints 

Description Part # 

Clearcoat Sprayable BASF 012463 

Paint/Tint Sprayable BASF 012464 

Extend Rust Treatment 03722 

Paint Stripper 010355 

Spray Paint Flat Black 48881 

Spray Paint Gloss Black 17794 

Spray Paint Aero Trim Black 94901 

Paint Brush 015980 

 

RETURN TO TABLE OF CONTENTS 

  



4 
 

Anti-Freeze 

Description Part # 

Anti-Freeze (Potable) 12116 

Anti-Freeze Fleet Charge 116064 

Anti-Freeze Hydronic Heat 55DR 113416 

Anti-Freeze Prime Concntrat-FD 114958 

Anti-Freeze Castrol Premx-SCA 08338 

Anti-Freeze Boiler Type 53305 

 

RETURN TO TABLE OF CONTENTS 

 

 

  

  



5 
 

Electrical – Fuses, Wires, Connectors and Wire Ties 

Description Part # 

Fuses 

Fuse Flat 30 Amp 22241 

Fuse Flat 25 Amp 22240 

Fuse Flat 20 Amp 22239 

Fuse Flat 15 Amp 22238 

Fuse Flat 10 Amp 22237 

Fuse Flat 7.5 Amp 22236 

Fuse Flat 5 Amp 10706 

Fuse Flat 3 Amp 23867 

Fuse Flat 1 Amp 23866 

Fuse Flat Mini 30 Amp 37419 

Fuse Flat Mini 25 Amp 37418 

Fuse Flat Mini 20 Amp 37417 

Fuse Flat Mini 15 Amp 37416 

Fuse Flat Mini 10 Amp 37415 

Fuse Flat Mini 7.5 Amp 37414 

Fuse Flat Mini 5 Amp 37413 

Wires 

Wire # 8 Ground Bare Copper 10497 

Wire TEW 16-1 Green 20908 

Wire TEW 16-1 Red 12881 

Wire TEW 16-1 Black 20910 

Wire TEW 16-1 Brown 20907 

Wire TEW 16-1 Orange 16314 

Wire TEW 16-1 White 20906 

Wire TEW 12-1 White 20912 

Wire TEW 12-1 Red 12887 

Wire TEW 10-1 Black 25221 

Wire TEW 10-1 White 20914 

Wire TEW 8-1 Red 22853 

Wire TEW 8-1 White 20929 

Wire Romex 12-2 w/GRD 10505 

Connectors 

Ground Lug Copper 1/4” Hole 21461 

Terminal Ring 1/0 Bat 3/8 Stud 22672 

Terminal Ring 2/0 Bat 3/8 Stud 22665 

Terminal Ring 3/0 Bat 3/8 Stud 22404 

Scotchlok Clamp Red 21746 

Scotchlok Clamp Blue 16756 

 

RETURN TO TABLE OF CONTENTS 

  



6 
 

Scotchlok Clamp Yellow 10614 

Scotchlok Clamp Brown 18511 

Terminal Conn Butt Pink 22673 

Terminal Conn Butt Blue 10593 

Terminal Conn Butt Red 16768 

Terminal Conn Butt Yellow 10594 

Conn Step-Down Blue/Red 14-16 27529 

Nut Wire Gray (71-B) 10608 

Nut Wire Yellow 19762 

Nut Wire Red 10612 

Nut Wire Blue 10611 

Grommet Heyco 7/8 (SB-875) 10631 

Terminal Ring # 6 Red #10 Stud 10598 

Terminal Ring # 8 Red 3/8 Stud 16726 

Terminal Conn Butt Red Reducer 23579 

Terminal Conn Butt 6 GA 37298 

Terminal Wire Bell Cap 10-16GA 24950 

Terminal Wire Bell Cap 8GA 27610 

Terminal Ring Yellow 3/8 Stud 10596 

Terminal Ring Yellow 1/4 Stud 22674 

Terminal Ring Yellow # 10 Stud 19760 

Terminal FE-Quick-SL Yellow 10606 

Terminal FE-Quick-SL Blue 10603 

Conn Butt Heat Shrink 12-10Yel 51785 

Terminal Fork Yellow 30313 

Terminal Ring SM Blue 3/8 Stud 19761 

Terminal Ring SM Blue 1/4 Stud 22664 

Terminal Ring SM Blue # 10 Stud 10595 

Conn Butt Heat Shrink 16-14Blu 51783 

Terminal Flag 14-16GA 51780 

3/8” Romex Connector 10626 

Connector Coaxial RG-6 31090 

Connector Coaxial RG-6 WTHRPRF 05538 

Connector Phone Plug 27784 

Noise Filter 

Noise Filter 37402 

Wire Ties 

Tie Cable 6” 10643 

Tie Cable 15” #120 Black 28371 

 

RETURN TO TABLE OF CONTENTS 

 

 



7 
 

Nails & Lumber 

Description Part # 

Pin Nail 1/2" 30745 

Pin Nail 5/8” Plain 21276 

Pin Nail 3/4” Plain 19863 

Pin Nail 1” Plain 25670 

Pin Nail 1-1/4” 30744 

Pin Nail 1-5/8” 40501 

Finish Nail 1” 11922 

Finish Nail 1-1/2” 11924 

Finish Nail 1-3/4” 22301 

Spruce 2 X 4-8’ 10729 

F4 9MM Luan 4X8 111085 

 

RETURN TO TABLE OF CONTENTS 

  



8 
 

Staples 

Description Part # 

Staple 3/16 Crown 3/8 Leg 23787 

Staple 3/8 Crown 1/4 Leg 40502 

Staple CO3BAAP 22300 

Staple 1/4” CO4BAAP 15294 

Staple 1/2" F08BAAP 15048 

Staple 1/2" A08BABP 16192 

Staple 3/16 Crown 5/8 Leg 31177 

Staple L10BAB 22303 

Staple 7/8” L12BAB 11837 

Staple 1” L13BRB 11838 

Staple 1-1/8” L14BRB 11842 

Staple 1/2” P08BABT 11833 

Staple 5/8” P10BAB 11834 

Staple 1/2" N08BB 11832 

Staple 3/4” N11BAB 11836 

Staple N12FAB 22305 

Staple 2-1/2” Q25BRB 11847 

Staple Romex Handy Strap 10634 

 

RETURN TO TABLE OF CONTENTS 

  



9 
 

Grout & Mortar 

Description Part # 

Grout Kerapoxy Bone-Quart 02263 

Adhesive Flexible Quik Set 33538 

Sponge 20916 

 

RETURN TO TABLE OF CONTENTS 

  



10 
 

Spray, Cleaners and Lubricants 

Description Part # 

Bucket of Scrubs 28624 

Wypall Towel Sellars 500 Ser 015980 

Brakleen Red Can Napa 04854 

Water Distilled 06943 

Denatured Alcohol Solvent 28889 

Windex 010489 

Polish Old English Dark Wood 018846 

Polish Old English Lt Wood 018847 

Slick Beaver Teflon Lube 00698 

Cleaner Carpet Beaver 01611 

Insta Shine 19821 

Cleaner Terp-A-Kleen 05164 

Final Inspection 015734 

Camper Cleaner 04339 

Baking Soda 011065 

Bleach Clorox 018334 

Parr Bond 12074 

Acetone 12115 

Lacquer Thinner 12114 

Sponge 20916 

Oil Dry (Kitty Litter) 06128 

Floor Sweep 10S0011 

Undercoat (Napa 3M) 03721 

Rust Treatment 03722 

Cleaner Permatex Battery Terminal 011073 

Fluid Windshield Washer 12351 

Oil Hydraulic AW 46 014555 

Oil Mtr Shell Rotella 15W40 016503P 

Coolant Final Charge 50/50 86521 

 

RETURN TO TABLE OF CONTENTS 

  



11 
 

Screws & Bolts 

Description Part # Picture 

Pop Rivet BLK 1/8 x 1/2 07306 

 

Hex Wash Tek 8 x 1 Wht 07359 

 

Nut Flange F/Coach Steps 07831 

 

Bolt Should F/Coach Steps 08450 

 

Hex Bolt 1/4-20 x 2-1/2 GR5 Zinc 010238 

 

Hex Bolt 5/16-18X2-1/2 GR5 Zinc 010241 

 

Hex Bolt 5/16-18X3-1/2 GR5 Zinc 010242 

 

Hex Bolt 3/8-16X3-1/2 GR5 Zinc 010244 

 

Nut Hex 1/2-13 Zinc 11801 

 

Flat Phil 4X1/2 Bronze 11855 

 

Oval QDX 6X1-1/4 Zinc 11866 

 

Oval QDX 6X1-1/2 Zinc 11868 

 

Pan QDX 8X1 White 11878 

 
 

RETURN TO TABLE OF CONTENTS 



12 
 

Pan DQX Tek 8X1 White 11879 

 

Round Wash QDX 8X1 Zinc 11880 

 

Hex Wash 8X1-1/2 Zinc 11886 

 

Flat QDX 8X1-1/2 Zinc 11888 

 

Round Wash QDX 8X3-1/2 Zinc 11889 

 

Round Wash QDX 8X2-1/4 Zinc 11896 

 

Round Wash QDX 8X3 Bronze 11902 

 

Flat Phil 14X1 Zinc 11906 

 

Hex Wash Tek 14X1 Zinc 11913 

 

Hex Wash Tek 14X1-1/2 Zinc 11914 

 

Truss QDX 8-32X1 Zinc 11918 

 

Hex Lag 3/8X4 Plain 11964 

 

Carr Bolt 3/8-16X2 Zinc 11969 

 

Carr Bolt 3/8-16X1-1/2 Plain 11973 

 

Hex Bolt 1/4-20X1 GR5 Zinc 11979 

 

Hex Bolt ½-13X1 GR5 Zinc 11992 

 
 

RETURN TO TABLE OF CONTENTS 



13 
 

Hex Bolt 1/2-13X3-1/2 GR5 Zinc 11997 

 

Hex Bolt 1/2-13X4 GR5 Zinc 11998 

 

Washer Lock 1/4 Zinc 12013 

 

Washer Flat 5/16 Zinc (87/LB) 12014 

 

Washer Lock 5/16 Zinc 12015 

 

Washer Flat 1/2 (26/lb) 12016 

 

Washer Lock 1/2 Zinc 12017 

 

Washer Flat 3/8 Zinc (67/lb) 12019 

 

Washer Lock 3/8 Zinc 12020 

 

Nut Hex 1/4-20 Zinc 12027 

 

Nut Hex 5/16-18 Zinc 12029 

 

Nut hex 3/8-16 Zinc 12033 

 
 

RETURN TO TABLE OF CONTENTS 



14 
 

Flat QDX Tek 6X1 Zinc #1Pnch 12824 

 

Carr Bolt 3/8-16X3 Plain 13089 

 

Hex Bolt Tap 5/16-18X3 Zinc 13149 

 

Rivets F/013282 013283 

 

Round Wash QDX 8X1-1/4 Zinc 14204 

 

Hex Wash 8X1 Fast White 14226 

 

Hex Lag 3/8X1-1/2 Zinc 014840 

 

Washer Flat 1/4 Zinc (149/lb) 15057 

 

Rivet 3/16” Solid F/09402 PTL 015402 

 

Rivets F/Frameless Windows 016133 

 

Pop Rivet 1/2” Plain 10M/CS 16722 

 

Hex Wash Tek 14X2 Zinc 16798 

 

Flat QDX 6X5/8 Brass 16803 

 

Pan QDX 6X5/8 White 16813 

 

Pan QDX 8X1 Black 17182 

 
 

RETURN TO TABLE OF CONTENTS 



15 
 

Pan Phil Tek 8X1 Black 17697 

 

Pan QDX Tek 8X1 Clear EMPG 18158 

 

Washer Fender 1/4 X 1-1/2 Zinc 18851 

 

Hex Bolt 1/4-20X3-1/2 GR 5 Zinc 018853 

 

Pop Rivet AD-66 BS 4.5M/CS 19825 

 

Washer Star 1/4” 22400 

 

Washer Fender 1/4X1 Zinc 22439 

 

Truss QDX 8-32X1-1/4 Zinc 22464 

 

Pan QDX Tek 8X1 Black 22468 

 

Pan QDX 8X1 Zinc 22671 

 

Carr Bolt 3/8-16X5 Plain 22765 

 

Flat QDX 6X3/8 Zinc 23389 

 

Pan QDX Tek 8X1-1/2 CAD EMPG 25033 

 

Flat QDX 10X1 Zinc 25750 

 
 

RETURN TO TABLE OF CONTENTS 



16 
 

Nut Lock 1/2-13 Hex Rev Zinc 25764 

 

Hex Bolt 1/2-13X1-1/2 GR5 Zinc 25766 

 

Hex Bolt 1/2-13x2 GR5 Zinc 25767 

 

Hex Bolt 1/2-13X3 GR5 Zinc 25768 

 

Flat QDX 10X5 Plain 25770 
 

Hex Bolt 1/4-20X2 GR 5 Zinc 25773 

 

Flat Phil 14X1-1/2 Zinc 25777 

 

Hex Bolt 3/8-16X1 GR5 Zinc 25779 

 

Hex Lag 3/8X2 Zinc 25784 

 

Hex Lag Wash 3/8X3 Plain 25785 

 

Hex Bolt 5/16-18X1 GR5 Zinc 25787 

 

Hex Bolt 5/16-18X1-1/2 #5 Zinc 25788 

 

Hex Bolt 5/16-18X1-1/4 #5 Zinc 25789 

 

Hex Bolt 5/16-18X2 GR 5 Zinc 25790 

 

Flat QDX 6X1 Zinc Deep Thred 25798 

 
 

RETURN TO TABLE OF CONTENTS 



17 
 

Oval QDX 6X1-1/4 Brown 25800 

 

Flat QDX 8X1-1/2 Bronze 25817 

 

Pan QDX 8X1-1/2 Zinc 25819 

 

Round Wash QDX 8X1-1/2 Bronz 25821 

 

Flat QDX 8X1-1/4 Bronze 25825 

 

Round Wash QDX 8X1-1/4 Broz 25826 

 

Pan QDX Tek 8X1/2 White 25829 

 

Flat QDX 8X2 Bronze 25833 

 

Round Wash QDX 8X2 Bronze 25836 

 

Flat QDX 8X2-1/2 Zinc 25841 

 

Round Wash QDX 8X2-1/2 Bronz 25842 

 

Round Wash QDX 8X3 Zinc DT 25849 

 

Flat QDX 8X3-1/2 Zinc 25852 

 

Round Wash QDX 8X3-1/2 Bronz 25853 

 

Pan QDX Tek 8X3/4 25861 

 

Washer Fender 1/4X1-1/4 Zinc 25870 

 
 

RETURN TO TABLE OF CONTENTS 



18 
 

Bugle Phil Tek 8X2-3/8 EMPG 27471 

 

Round Wash QDX 8X2 Brass 27532 

 

Round Wash QDX 8X2 Brass 27972 

 

Oval QDX 6X1 Beige 28130 

 

Washer Fender 3/8X2 Plain 28386 

 

Pan QDX 6X5/8 Zinc 28768 

 

Round Wash QDX 8X1/2 Zinc 28770 

 

Hex Bolt 1/2-13X2-1/2 GR8 Zinc 28775 

 

Carr Bolt 1/2-13X3-1/2 Plain 28776 

 

Hex Wash Tek 14X3/4 Emp 28782 

 

Flat QDX 6X5/8 Zinc 28792 

 

Round Wash QDX 8X1-1/2 Zinc 28795 

 

Pan QDX 8X1/2 Black Oxide 28796 

 

Flat QDX Tek 8X1 White Emp 28799 

 

Pan QDX 8X1 Brown 28800 

 
 

RETURN TO TABLE OF CONTENTS 



19 
 

Flat Phil Tek 8X3/4 Black 28807 

 

Nut Lock 3/8-16 Hex Nylon Zinc 31081 

 

Pan QDX 6X1-1/4 Walnut 31117 

 

Round Wash QDX 10X1 Plain DT 31161 

 

Pan QDX Tek 8X3/4 Black 31167 

 

Flat QDX 8X1-1/2 White 31857 

 

Wafer 10X1 PH Tek2 Clear Emp 33171 

 

Oval Phil 8X1 Stainles Steel 33272 

 

Round Wash QDX 8X4 Bronze DT 33420 

 

Hex Bolt 3/8-16X3/4 GR5 Zinc 33689 

 

Wafer 10X1-1/4 PH Tek Zc 34373 

 

Wafer 11X3-15/16 Phil Silgrd 34420 

 

Pan QDX 8X1-1/4 White Fast 35049 

 

Hex Bolt Tap 1/4-20X1-1/2 GR5 35352 

 

Hex Wash Tek 8X1 Zinc 35921 

 
 

RETURN TO TABLE OF CONTENTS 



20 
 

Hex Wash Tek 8X1-1/4 Zinc 35926 

 

Pan QDX Tek 8X1-1/2 White 36631 

 

Flat QDX 6X5/8 Brass Type 17 37290 

 

Pan QDX 6X1 Beige 40322 

 

Hex Bolt Tap 1/2-13X2-1/2 Zinc 40964 

 

Washer Star 1/4” 42013 

 

Pan QDX Tek 8X1-1/2 Black 42229 

 

Pan QDX Tek 8X1/2 Black 42230 

 

Pan QDX 6X1-1/2 Blk Oxide 42979 

 

Pan QDX 6X1 Black Oxide 43412 

 

Hex Wash Tek 1/4X3 Emp 44929 

 

Pan QDX 6X3/4 Black Oxide 46537 

 

Hex Bolt 3/8-16X2-1/2 GR5 Zinc 47267 

 

Washer Star 3/8” Int/External 52240 

 

Oval QDX 6X5/8 Nickel 56489 

 

Flat QDX 6X1/2 Type 17 Nickl 56493 

 
 

RETURN TO TABLE OF CONTENTS 



21 
 

Screw, Machine 8-32 62803 

 

Bolt 1/4-20X3 Hex GRD 5 63808 

 

Pop Rivet Ad-48-BS 65100 

 

Hex Wash Tek 1/4X2-1/2 Emp 82252 

 

Flat QDX Self 8X1 T2BLKEMP 92178 

 

Wafer 14X1-7/8 Phl Self T3 ZN 92179 

 

Carr Bolt 1/2X4-1/2 GR5 ZN 96288 

 

Hex Wash Tek 14X4 Self Drill 109984 

 

Bolt 5/16-18X2-1/4 115735 

 

 

RETURN TO TABLE OF CONTENTS 

  



22 
 

Toilet Bolt Kits 

Description Part # 

Bolt Cap AQ=MA Stool79534/35 012323 

Bolt Cap CVR Tecma 013303 

Bolt Cap Style II Bone 97017 015654 

Bolt Pkg Aria Thfd 06920 

Bolt Pkg S+Wht Svc Kit 017108 

CVR Bolt Wht (2) Aria Thfd 09550 

Seal/Bolt Mtg F/74932 Thfrd 012430 

Seal/Bolt Mtg F/77060 Thfrd 012166 

Seal/Bolt Mtg F/79534 Thfrd 012729 

 

RETURN TO TABLE OF CONTENTS 

 

 

  



23 
 

Velcro, Teflon Strip, Brackets, Rubber Pads, Plumbing Accessories and Insulation 

Description Part # 

Velcro 

Dual Lock 3M 1 X 50YD 64320 

Teflon Strip 

Spacer Awn Frt Ent Door Wht (Teflon Strip) 05180 

Brackets 

Brkt Rounded Crnr Ant. Eng. 62122 

Rubber Pads 

Pad Clear Rubber Thick 44665 

Plumbing Accessories 

Pipe Dope Select Unyte 1/2 Pint 103277 

Cement ABS to PVC (Oaty Green) 48532 

Cement ABS 1 Gal 10426 

Insulation 

Insulation R11 15” x 60’ (3)/225.00SF 24121 

 

Return to Table of Contents 


